3.6 The Chain Rule Monday, February 12, 2018 8:23 AM

 $\frac{d}{dx} \left[x^3 \right] = 3x^2$

$$\frac{d}{dx}(1x) = \frac{1}{2\sqrt{x}}$$

$$\frac{d}{dx}\left(\frac{1}{x}\right) = -\frac{1}{x^2}$$

$$\frac{d}{dx}(\cos x) = -\sin x$$

$$\frac{d}{dx}(xecx) = xecx \tan x$$
$$\frac{d}{dx}(\tan x) = xec^{2}x$$

dx

$$\frac{d}{dx}\left[\left(\operatorname{Shuff}\right)^{3}\right] = 3\left(\operatorname{Shuff}\right)^{2}.$$

$$\frac{d}{dx}\left(\operatorname{Shuff}\right)$$

$$\frac{d}{dx}\left(\operatorname{Shuff}\right) = \frac{1}{2\sqrt{\operatorname{Shuff}}}\cdot\frac{d}{dx}\left(\operatorname{Shuff}\right)$$

$$\frac{d}{dx}\left[\frac{1}{\operatorname{Shuff}}\right] = -\frac{1}{(\operatorname{Shuff})^{2}}\cdot\frac{d}{dx}\left(\operatorname{Shuff}\right)$$

$$\frac{d}{dx}\left[\operatorname{con}(\operatorname{Shuff})\right] = -\operatorname{Shuff}\left(\operatorname{Shuff}\right)\cdot\frac{d}{dx}\left(\operatorname{Shuff}\right)$$

$$\frac{d}{dx} \left[\left(\frac{\cos x + x^{2} + 7}{\sin x + 2x} \right)^{3} \right] = 3 \left(\cos x + x^{2} + 7 \right)^{2} \cdot \left(-\sin x + 2x \right)$$

$$\frac{d}{dx} \left[\sqrt{x^{2} + 4x - 7} \right] = \frac{2x + 4}{2 \sqrt{x^{2} + 4x - 7}}$$

Monday, February 12, 2018 8:37 AM

$$\frac{d}{dx} \left[\text{Nec} \left(x^3 + 3\cos x \right) \right] = \frac{d}{dx} \left[\text{Nec} \left(x^3 + 3\cos x \right) \right] = \frac{d}{dx} \left[x^3 + 3\cos x \right] \cdot \left[3x^2 - 3\sin x \right] \cdot \frac{d}{dx} + 3\cos x \right] \cdot \left[3x^2 - 3\sin x \right] \cdot \frac{d}{dx} = \frac{d}{dx} \cdot \frac{d}{dx} + \frac{d$$

Monday, February 12, 2018
E.g.:
$$\frac{d}{dx} \begin{bmatrix} \sqrt[3]{x \ln 3z} + con 3x \\ \sqrt[3]{dx} \end{bmatrix} = \sqrt[3]{u} = (u)^{\frac{1}{3}} \\ \frac{dy}{du} = \frac{1}{3}(u)^{-2/3} \\ \frac{dy}{du} = \frac{1}{3}(u)^{-2/3} \\ u = nin x + con x \\ \frac{du}{dx} = con x - nin x \\ \frac{du}{dx} = con x - nin x \\ \frac{du}{dx} = con x - nin x \\ \frac{du}{dx} = \frac{1}{3}(u)^{-2/3} \\ \frac{du}{dx} = con x - nin x \\ \frac{du}{dx} = \frac{1}{3}(u)^{-2/3} \\ \frac{du}{dx} = \frac$$

Monday, February 12, 2018 8:53 AM

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{3}{2}u^{-1}(2x+5)$$

$$= \frac{3}{2}(x^{2}+5x+2) \cdot (2x+5)$$

$$= \frac{3}{2}\sqrt{x^{2}+5x+2} \cdot (2x+5)$$
Chain Rule with more than 2 components
$$y = u = \sqrt{w} = \frac{dy}{du} \cdot \frac{du}{dv} \cdot \frac{dv}{dw} \cdot \frac{dw}{dx}$$

$$= \frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dv} \cdot \frac{dv}{dw} \cdot \frac{dw}{dx}$$

$$= \frac{dy}{dx} = \sin(\frac{v}{v}) \cdot \frac{dy}{dx} = \frac{1}{2}$$

$$y = \sin(u) \quad y = u = \sqrt{-x}$$

$$u = \cos(v)$$

$$v = \sqrt{x} \quad \frac{dy}{dt}/dx$$

Monday, February 12, 2018 8:57 AM

 $\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dv} \cdot \frac{dv}{dx}$ $= \cos(u) \cdot \left(-\sin(v)\right) \cdot \frac{1}{2\sqrt{x}}$ $= \cos(\cos(\pi)) \left(-\sin(\pi)\right) \cdot \frac{1}{2\pi}$ $= -\frac{1}{2} \cos\left(\cos(\sqrt{x})\right) \cdot \sin(\sqrt{x}) \cdot \frac{4}{\sqrt{x}}$ $E.x.(1) y = sin(sin(sin x)). \frac{dy}{dy} = ?$ (2) $y = con\left(\sqrt{sin}\left(\tan(\pi x)\right)\right) \cdot \frac{dy}{dx} = ?$ (3) $y = \left[x + (x + sin^2 x)^3 \right]^4 \cdot \frac{dy}{1} = ?$ V = sin x $u = sin(v) \rightarrow \frac{du}{dv} = cos(v)$ $y = sin(u) \rightarrow \frac{dy}{dt} = cos(u)$

Monday, February 12, 2018 9:27 AM

$$\frac{dy}{dx} = \cos(u) \cdot \cos(v) \cdot \cos x$$
$$= \cos(\sin(\sin x) \cdot \cos(\sin x) \cdot \cos x)$$

$$P = \pi x$$

$$C = \tan(p)$$

$$m = \sin(c)$$

$$\pi = \sqrt{m}$$

$$\frac{dy}{dx} = cos(\pi)$$

$$dy = cos(\pi)$$

$$dx = 1 \cdot dm = cos(\pi)$$

$$\frac{dy}{dr} = -\sin(\pi); \quad \frac{d\pi}{dm} = \frac{1}{2\sqrt{m}}; \quad \frac{\partial m}{\partial c} = \cos c;$$

$$\frac{dc}{dp} = \sec^2(p); \quad \frac{dp}{dx} = \pi$$

Monday, February 12, 2018 9:34 AM

$$\frac{dy}{dx} = -\sin(\pi) \cdot \frac{1}{2\sqrt{m}} \cdot \cos(-\sec^{2}(p) \cdot \pi)$$

$$\frac{1}{2\sqrt{\sin(\tan(\pi x))}} \cdot \sec^{2}(\pi x) \cdot \pi$$

$$\frac{1}{2\sqrt{\sin(\tan(\pi x))}} \cdot \sec^{2}(\pi x) \cdot \pi$$

$$-\sin(-\sin(\pi x)) = 0$$

$$3 \quad y = \left[\frac{x + \left(\frac{x + \sin^{2} x}{4} \right)^{3} \right]^{4}$$

$$y = u^{4}$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$\frac{dy}{dx} = 4 \left[\frac{x + \left(\frac{x + \sin^{2} x}{4} \right)^{3} \right]^{3} \cdot \frac{du}{dx}$$
Find $\frac{du}{dx} = u + \sqrt{3}$

$$\frac{du}{dx} = 1 + \frac{d}{dx} \left[\sqrt{3} \right]$$

Monday, February 12, 2018 9.46 AM

 $= 3v^2 \cdot \frac{dv}{dx}$ <u>q</u> $= 3(x + \sin^2 x)^2 \cdot \frac{dv}{dx} \cdot \varphi$ x + sun xFind du. $\frac{dv}{dx} = 1 + \frac{d}{dx} \left[\sin^2 x \right]$ = 1 + 2 sinx · cosx $\frac{d}{dx} \left[v^3 \right] = 3 \left(x + \sin x \right)^2 \cdot \left(1 + 2 \sin x \cos x \right)$ $\frac{du}{dt} = \frac{1}{1} + 3(x + mx)^3 \cdot (1 + 2mx \cos x)$ $\frac{dy}{dx} = 4 \left[x + \left(x + \sin^2 x \right)^3 \right]^{\frac{3}{1}}$

Monday, February 12, 2018 9:55 AM
In Newton's Motation. (Chain Rule)

$$y = f(g(x))$$

 $y' = f'(g(x)) \cdot g'(x)$
 $y' = f'(g(x)) \cdot g'(x)$